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Final Exam — T1 — Math —2022-2023 — Grade 9 Advance
2023/2022 —paitie auli - Gl yll — Jall aa JY) Jaadll jla) ali z3 el

Solve the equation.

c 9
4 8
| 9
cC =—
2
H “1 9
2 " — 4
9
2 —_—
g
9
4 = ——
€=73

Find the inverse function of
C(x) =24x+ 38




= 1 19
C 1(1') =EI_E

—

[

- 1 19
C 1(1’) =$I—E

[ ]

g =§;x— 38

. C (%) =§x— 24

Write a compound inequality for the rbed) Jiaill dSpa dliliia ()
following graph.

| : I _l | | | + . i

| 1 | |

5 -4-3-2-1 0 1 2 3 4 5



—-5< x<3

Y

3 3I< x<Lh

I

—5< x<3

Describe the transformation of g(x) = (x —2) — 8 Al Jugaill Ll
gx)=(x—2)—8asitrelates to  .f(x) = x ¥ Akl bl Joial oo gl
the graph of the parent

function, f(x) = x.
Ao Claag B 5 cpanll Aga GLang dalj)
Translation 2 units right and 8 units up.
Jiudl Slasg 8 g (pasl) dga (lasg dalj)
Translation 2 units right and 8 units down.
oS (angy sluwll dga Cilang 8 Aalj)
Translation 8 units left and 2 units up.
AN gy Osad) dga Slaag 8 da)))

Translation 8 units right and 2 units up.



Solve |2t —4| =8 |2t — 4] = 8 Aaleal) s

2 — — —
2'6
2 {—2,6}
+ {2,6}
Write an equation in point-slope form pefinall dadiy Juall dipay dlslaa i)
for the line that passes through Jiiadll e gaganlly (2, —5) ddaaills Ll
(2,—5) and is perpendicular to the Ly =3x + 1 dalaall Sl

graph ofy = 3x + 1



1
1 y+5=—§(1—2)
1
2 y—5=—§(x+2)
1
3 y+5==(x—2)
3
5 1 2
4 — 5 =— —
y 3 (x—2)

Solve the inequality. Auldall Ja
t+14 > 15 ort—9< —-15 t+14>15 Jt—9< —15



tlt>15t<6
tlt=21ort<e6

tit>14 t<—6
tjlt>1ort< -6

tit>—14t<—6
tit=—1ort< —6
t|t>29 4t <24
t|t=29%9o0rt <24

Find the value of r so that the line
passing through (—3,r) and
(7,—6) has a slope of 2%.

s ) asdiaad) Jead ) 7 dad ang
22 gl Jse 41(7,-6) 5(=3,1) e



v | =30

5

2 ——
=12
3 T=—3ﬂ
12

4 — —

B

Write an equation in slope—intercept Ll asficiall alafially Juall dasas dlslae iS)
form for the line that passes through 21 Solow dliag (—4,3) dhaiill
(—4,3) and has a slope of 21



1 y:Sx—i
1

2 y:5x+5
1

! y=§x—5

; m—t
y=5x+7

State the graph of the function Adall Sl JSa ass
3x+y=8. 3x+y=8
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< + -4 >
4
4 1 2 O 2 x
-4
-8
find the 7" term of the arithmetic Agboad) Al asled) aal) aag)
sequence. -11,-15,-19,-23, ..

-11,-15,-19,-23, ...



—27

3 —35

+ | —37

Select the solution set for Ja dc gana i)
—13x > —-169. —13x > —-169

1 x<-—13

2 x< 13

(=1

x>-13

x>13

i



Use the graph of the function to galalea A0S ANAL L) Sl aadiid

write its equation.

f(x) = |x—5|.

: | f(x) = |x] — 5.

2 f(x) = |x+5].

4 f(x)=|x|+5.

Find the x — intercept and soaally X — A jeaall Ga ahaiall aagl
y — intercept of the equation 4y = —12x + 36 disall y — ,=,...HL,J'|
4y = —12x + 36.



3 B s gaphlElly 9 52y saa pa phlid

y — intercept is 9, x — intercept is 3 .

9 & X Jgnepaadldilly 3 58 Y 950 2a adalall)

y —intercept is 3, x — intercept is 9.

3 & X e papbldilly —9 8 Y e pa adaladll

y —intercept is —9, x — intercept is 3.

—9 & X e papbldllly —3 & Y 9ne pa adalddl)
y-intercept is —3, x — intercept is —9.

Solve 2 —ax = -8 2 —ax =—8 sl Ja

For x. Assume a = 0 a#0 o ca . x sy



1 X=-——
a
6
2 X=——
a
6
3 x:-
a
10
Y= —
a

Which of the graphs below is the

Zifxbl?

graph of 1(x) :{3lfx£ 1



8]
.‘_;.

Write an equation for the sentence.

Four times a number less 10 is

equal to 16.



10—4x =16

—4x—10 = 16
4(x — 10) = 16
4x +10 = 16

Solve the inequality
—3(7n+3) < 6n



>1
1 n i
3
S 1
2 n i
3
<1
3 n —
3
< 1
4 n _——
3
Solve. v_ 2x—3
9 24



2 x=-4.5
3 x:{}ﬁ
4 x=-0.6

Solve the equation

w1
— = 27p for p.
11



[

22

22
vV=—
21
vV=—
w
vV=—



Find the rate of change represented

in the table,




A thermometer is accurate to
+2°F . Which absolute value
equation can be used to find the
greatest and least possible
temperatures if the thermometer

reading is 17°F?

F2°F Jahar jagasill dds gl
lgaladid (Ko dilhae dasd 23 Alilaa (s
Fagasill Liaa Bl das Sl Aol slay
€17°F 5ol il 13)



[t+ 17| =2

2 It —17] = 2
; |t +2| =17
: It—2| =17

Write the equation in slope-

intercept form.
—10x + 2y =12

y=5x—6

y=5x+6

y=10x+ 12

2y = 10x + 12



== BONUS ==***Salving Absolute Value inequalities

Solve the inequality.
I3h—3| <12



